& @ @ @j/ %ﬁ Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuagdo:
3,341 x 1000 = 6, 834 x 100 =
2,486 x 1000 = 1,045 x 10 =
4,167 x 10 = 7,521 x 10 =
4,848 x 10 = 5,554 x 1000 =
4,045 x 1000 = 7% 100 =
9,403 x 10 = 7,161 x 1000 =
9,77 x 1000 = 6,627 x 100 =
2,908 x 10 = 3,931 x 10 =
7,135 x 100 = 4,456 x 100 =
2,707 x 100 = 6,288 x 1000 =
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4 @ @ % w Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuagio:
3,341 x 1000 = 3341 6, 834 x 100 = 683.4
2,486 x 1000 = 2486 1,045 x 10 = 10.45
4,167 x 10 =41.67 7,521 x 10 ="75.21
4,848 x 10 = 48.48 5,554 x 1000 = 5554
4,045 x 1000 = 4045 7> 100 = 700
9,403 x 10 = 94.03 7,161 x 1000 = 7161
9,77 x 1000 = 9770 6,627 x 100 = 662.7
2,908 x 10 = 29.08 3,931 x 10 =39.31
7,135 x100 =713.5 4,456 x 100 = 445.6
2,707 x 100 = 270.7 6,288 x 1000 = 6288
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